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For questions 1-3, please reference the following triangle.
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L Find the length of side X.
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2. Find the length of side Y. p
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3 Find the measurement of angle Z.
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4. A safety regulation states that the maximum angle of elevation for a rescue ladder is 72". A fire
department’s longest ladder is 110 feet. What is the maximum safe rescue height?
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5. A man climbs 213 feet up the side of a pyramid to get away from his wife, who is standing at the
foot of the pyramid where the man started to climb. The angle of depression to where his wife is
standing is 52.6°. How high off the ground is the man?
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6. The length of a shadow of a tree is 125 feet when the angle of elevation on the sun is 33,
Approximate the height of the tree.
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7. A hockey team wants to elect a captain and a co-captain. If there are 14 people on the hockey team
how many different sets of captain and co-captain care possible?

8. Mrs. Boots needs 5 students from her class of 34 to help her move into her new classroom. How
many different options are possible?
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9. There are 20 members in a club. Five people are selected to go to the state conference. In how
many ways can the five members be selected?
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10. Get rich A survey of 4826 randomly selected young adults (aged 19 to 25) asked, “What do you
think are the chances you will have much more than a middle-class income at age 30?” The two-way
table shows the responses.

Gender

Opinion Female | Male Total
Almost no chance 96 98 194
Some chance but 426 286 712
probably not

A 50-50 chance 696 720 1416
A good chance 663 758 1421
Almost certain 486 597 1083
Total 2376 2459 4826

a. If a person is randomly selected, what is the probability that they have a 50-50 chance?
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b. If a person is randomly selected, what is the probability that they are almost certain?
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c. If a person is randomly selected, what is the probability that they have some chance but
probably not? —1i
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11. A bag contains 8 blue M&M'’s, 4 red M&:M s, 5 yellow M&M’s, 3 orange M&M's. Find the
following probabilities. 7=l =
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P (red, red) without replacement P (blue, blue) without replacement
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UNITS 4, 5, and 9
Simplify the following completely.
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Solve the equations for x.

|
|
@st{ﬁ wPorm%Jwﬂ\ k. J1®%@Hﬂ) oagﬁﬁﬁt " f
|
\
|
|

Sides o the 9
|~ Gx =%+ ¥
% =X

~Z- 63( 2 2% » Solve v .
ot )5( } ﬁ:‘in: 3
- Z L~7\ — ?_— .,,} mk
7, (st - 4>1 é/x T 29> 4 8.(%/55 = Zx)i 6/70 - 32x> /
?é L& .Qy\ ALK T
Jx-d=29 SETTETe T
/X ;53 E/\X W)C,? 20x = 15 J
et szl/zor()%[ |
=— 3 3x)2 | %13
9.4 *£+(x+2) | 10. [512] [22 x)? | /
AT N Y b= 22-3x |
29 2 A4 2 V 1: |
|

|252% | m ﬂ






Xx-3
16. £(x)= [ 1 ) 4 B (‘-’?&._ B -
5 \
Growth/Decay: - NN % I T -
pecay \NENSER
Transformations: (, ; . y - . R \ e

KB SSMORS D oIS 1o The Vigh s I EEEEN B\

- © moves | uav down %
Horizontal asymptote: ‘j»’ﬁ “' AT, EREREEENE RN RN
y-intercept: 02 2 o

IACT2 0 SN 1 BN
( a) ~4z) - = 8- 47 | IR I
Domain: ' L .
(]’/DO/W\
) v

Range:

<\'/ i )
Use the formulas below to answer the following questions.
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17. You deposit $5000 in a bank account. Find the balance after 5 years for each of the followmg N
situations: Qggd_/ aTREEN

a. The account pays 2.85% annual interest compounded quarterly p=o.{ |+ a:;;-
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b. The account pays 3% annual interest compounded yearly.
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d. What options is the best? Explain your answer.
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se the formulas below to answer the following questions.
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18. You deposit $4500 in a bank account. Find the balance after 3

years for each of the following
situations: -

a. The account pays 2.75% annual interest compounded weekly. [( 5
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" b. The account pays 2.95% annual interest compounded quarterly.
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c. The account pays 3% annual interest compounded yearly.
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e. What options is the best? Explain your answer.
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19. Bach year 12% of the rainforest is destroyed. If there are currently 4,000,000 acres of rainforest
how many acres will be left in 11 years?
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Graph the exponential function and find all information listed below.
15. f(x)=—-(2)*" +2 A
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